(DICS31)

Total No. of Questions : 10] [Total No. of Pages : 03
B.A./B.Com./B.Sc. DEGREE EXAMINATION, DECEMBER- 2018
Third Year

SCIENCE & CIVILIZATION
Time :1%2 Hour Maximum Marks :50

SECTION -A
Answer any Two of the following in six lines. (2 x13=26)

Q1) Explain in detail about discoveries in the field of mathematics during 20™
century.
2085 FweR0e0 588 FTIHOS® DPLSHNRTED (5708 BODOG.

02) Describe team work.
R0 20 HBOOOB.

03) Explain Egypt civilization.
58e25Y) DIDBHE0 DHOOTSOE.

04) Givean account on theeffect of modern agriculture on environment.
BEODBEHEHVOTDODOD DTIDBEIO & FIPHOD B0D0%.

05) Explain the mechanism of RADAR.
B8 HOTBOHN DGHENED OO0,

06) Explain alternative energy sources .
DTETPOLD B HHEOD0 HHOO0TSOL.

SECTION -B
Answer any threeof the following. 3 x4=12)

Q7) a) Babylonians
239D DODR
b) Natural medicines for Malaria.
S0BDOTT-5I0TETI0

c) Insulin
TN



0%)

9)

d) AIDS
o
e) Equinoxes
888570080
f)  Electric lamp
DogEerR00
g)  Child labour
230 500,500
h) Red data list
3&@ere 205
1)  Gun powder
58 Dotsd
SECTION -C
Answer All questions.
Fill in the blanks:
239BO0 PPO0DE :
a) Two types of vitamins
P TESeeD
b)  Another Name for Vitamin- D
DEQ0S-DEH1 S00AB0E DX
c) Pancreas function
00T DO
d) Types of fibres

DEDOBBEH000

Choose the correct word.
68)9_336 DBV (i)goﬂSo&.

a)

Antipyretics for

1)  Malaria i1) Fever
ii1) Joint pains iv) Cough
80¢3 203§ BIESH

i) SoBoase i) e o5

iii) 8gSeen iv) &S5

(3 x4=12)



b)

d)

X- ray for

1)  To identify fractures of bones 1ii)
ii1)) Cancer treatment 1v)
DES o0 BRSNS

1) D808 DHIHY,DO (HYOTHELD i)

iil) 5096 e3e5Bo0e5ED iv)

Green Revolution started by

1)  M.S. Ramanadhan i1)
ii1) Norman Borlog 1v)
330OB HPNBHHN DS BV DERILD.

1) DND. DR. TOEDDTOEHD 1)

iil) ©8,® 2585

Bio -mass energy.
1)  Bio -gas i1)

Muscle problems
Fertilizers

B0 L0 éé)ééeéo

Ileby)able)

Alexander Fleming
M.S. Swaminadhan

@60;0@5533)305
DEV. DR. g ROTIGHD

Petrocorps

ii1) Ethanol iv) All of the above
2330055098 DY
1) 20350 i) 2eP¥seh
111) QoS v) HHoso
Q10)Match the following :
a) Soil erosion 1)  Cancer
b) Quinine i1) AIDS
c) HIV ii1)) Deforestation
d) Radium Therapy iv) Malaria
808 T30 2388DBHTS0BD:
a) &BS sHOFoHO i)50:35
b) &3S 11)odoty
c) HIV 111) S5 DIH50
d) B&opo 5> V)80
VXV

"\ "\ "\



(DBMATS31)

Total No. of Questions : 12] [Total No. of Pages : 4
B.A. DEGREE EXAMINATION, DECEMBER - 2018
Third Year
MATHEMATICS - 111
Rings and Linear Algebra
Time : 3 Hours Maximum Marks :70
SECTION - A
Answer all questions. 8 x3=24)

Each question carries 3 marks.

Q1) Prove that a field has no proper ideals.
28 B8 550 850,00 (DBOHE) HOBED WRDHOG.

02) Define Euclidean ring. Prove that every field is as Euclidean ring.
QDREBODS HOADOK DT DODHED. HA ZBO OHPEHOHS HooHo @

w5500,

03) If T is a linear operator on V. Such that T>— T+ I = 0 then T is invertible.
T, V &5 toer 5085, -~ T+1=0 o8 T 99505500 w5308

04) State and prove invariance theorem.
DBBE DLROBHNT DB DOD, DETPHOTIDAD.

05) Let V be an inner product space over the field R and x, y € V. Then prove that x
is orthogonal to y if and only if ||x + y”2 =||x||2 +||y||2.

880 R 3 V &8 eosgerosoedo, X, y € V exo820we0. y & X @00
a_ ™ Q

, 2 2 2
0563008 85,8 Hoog® Do ||x + || =[x +|| @ wmnod.
06) Find the eigen roots and the corresponding eigen vectors of the matrix
1 4
A= :
3 2
1 4
OO Hojeeeen SO0 DOVOPS DES BEG s, £0BS A= 3 2

B0E6°506.



Q7) State and prove Parseval’s Identity.
@agéeﬁ_ HOOYY) DB DEFHO0TIO.

A=

-2

1
3

-2 1 -1
08) Find the rank of a matrix A= 1 2 -1]|.
3 0 1
1 -1
2 —1| 50085 55630 55062508,
0 1
SECTION - B
Answer all questions. 4 x 112 =46)

Q9) a)

b)

Q10)2)

Each question carries 11% marks.

Define characteristic of an integral domain. Prove that it is either zero
or a prime number.
28 DPROY DBFO BT, RFBES DY;DOT0d. 8O Do Bwo

DTS DOy WHBIOLSD DBIPRO0TSOE.

In a Ring R with unity if @ € R has multiplicative inverse then a € R
is not a zero divisor.
28 085 R &% 25,8 €08 a € R 96505 HF500 56008 098,650

RS KD@:{ TR sL0.

OR
Define Maximal ideal ring, for the ring of integers determine the
maximal ideal
DO0TTOE PBESD DEHODST DT DOTIOb. QPTR08 500I7OE

BB BDEBOHSHO B50E5,08.

Define Euclidean ring. Prove that every field is an Euclidean ring.
ODREBADS HOODOL DB DOWDHD. DS FBO OHRESODHS

H5OADO O 37N 0.

Can we express the vector o = (2, -5, 3) as a linear combination of
the vectors e, = (1, 1, 1), e; = (1,2, 3) and e; = (2, -1, 1) in R*(R).
R’R) 50 a = (2, -5, 3) e 50 ¢ = (1, 1, 1), e; = (1, 2, 3)

oot e3 = (2, -1, 1) D8 Dod3zecsore seaHrsedsse ?
IfS, T are subspaces of a vector space V(F), then

1) SE€T=L(S)cL(T) 2) LSUT)=L(S)+L(T)
S, T 939 3526 O 3008, 05 o V(F) e@cwnd
1) SE€T=L(S)cL(T) 2) LSUT)=L(S)+L(T)

OR



b)

011)a)

b)

i)

Let W, and W, be two subspaces of R* given by
Wi={(a,b,c,d):b—2c+d=0}, Wy={(a,b,c,d):a=d,b=2c}
find the basis and dimensions of

I W, 2) W, 3) Winw,

R* v 3008008008 W 1, W5 e €aje0s00ee30e0
Wi={(a,b,c,d):b—2c+d=0}, Wo={(a,b,c,d):a=d,b=2c}
®008 53 80O T3 SRS DAY, HOBHIEO DBVOTOG.

I W, 2) W, 3) Winw,

Let V(F) be a finite dimensional vector space of dimensional » and W
be a subspace of V. Then prove that W is a finite dimensional vector
space with dim W < n.

OB DB wAOT0BTeEO V(F) 58 Dossemo n es08%08%

V&go W a8 earoscego W gxncwe dim W < 1 e0thdey) Hodos
LVETIOSBTIE .

Find the characteristic root and the corresponding characteristic

6 2 2
vectors of the matrix A=|-2 3 -—1/|.
2 -1 3

D BRBBHO €588 H00eerPd0 30638 @00 RGBS DRI

2 3 -1 -1
Find the rank of the given matrix A=1 N _4.
31 3 2
6 3 0 -7
D HRYBE §93D BLHS0s.
OR
I -1 0
Find the inverse of A=|0 1 1| using Cayley — Hamilton
2 1 2
theorem.
I -1 0
89 TS 1RO GHABPA0D 28 5088 A=|0 1 1|c308,
2 1 2

QP00 BB0HH0E.



012)a)

b)

-2 2 3
Determine the Modal matrix P of A= 2 1 —6| and verify that

-1 -2 0
P 'AP is a diagonal matrix.
-2 2 3
208 RIS 070HS P & A= 2 1 -6 SDOSOOT:SO&. 0O
-1 -2 0

P'AP 28 955 55085 @ 580050,

State and prove “Cauchy — Schwartz’s inequality”.
858)-39,, 5§ BDBIBBH HHD0E DEFPBHOIOE.

State and prove Bessels Inequality.
ﬁgfgg IDETPHOBO DBHDVOD DB330505.

OR
State and prove parallelogram law in inner product spaces and specify
its geometrical interpretation.
VOBEROBTIHO  6BY DB DHROBE  SHRBO PR

DEFRDOD), Tl G300, Bz (88 HBGEED DT DOD DBFRLOBOR.

Given the basis (2, 0, 1) (3, -1, 5) and (0, 4, 2) for V3(R) construct
from it, by Gram-Schmidt process, as orthonormal basis relative to
the standard inner product.

@0-3,6 (D) HEOD R TP WOBTH ©wBBE HODOYPOD &8

88%55,5 (woendeo) epeoed Vi(R) apedess (2, 0, 1)
(3,1, 5) svoaxm (0, 4, 2) DB30S0s.

+4 4+



(DBMAT32)

Total No. of Questions : 12] [Total No. of Pages : 4
B.A. DEGREE EXAMINATION, DECEMBER - 2018
Third Year

MATHEMATICS -1V
Numerical Analysis
Time : 3 Hours Maximum Marks :70

SECTION - A
Answer all questions. 8 x3=24)
FEach question carry 3 marks.

Q1) Prove that
|
a) uo=VAe +=A
) A >

b) wzé(mv)

D 8D DBIPRHOTHD.

02) Find the Missing value in the following table.
808 HEBBSD S930DD (9080 WOBTFHO WesTe LPOOSO.

x 45 50 55 60
fix) 3.0 - 2.0 0225

03) Use Stirling’s formula to find yy given y; = 5225, y; = 4316, y;; = 3256,
Yie = 1926,y21 = 306.
Y1 = 5225, Yie = 4316, yn = 3256, Ve = 1926, Vo1 = 306 @QD@ (E))QOQ m?@

6BDA3TRA0D Yy O B0ER0530.

04) Find the fourth divided differences of the function x> — 2x with arguments 2,
4,9,10.
HOZS X — 2x GINE, TASD GING, DD DTS B BHOEUS0E. TSHEV 2,
4,9, 10.
05) Evaluate J-smx

0

dx by Trapezoidal rule.

sin x
dx 58050 DOHOS.

gw&aawée’ﬁ_ DODHHTR O350 I
X
0



006)

07)

0%)

9)

Using Euler’s method compute y at x = 0.5 from % =x+y°, W0)=1.
X
8OO DEBD GHAIRG0D X = 0.5 o y O B8 o TP Ho0k BBE%,08

Q=x+y2, y(0)=1.
dx

Find the real root of the equation x> — x — 1 = 0 correct to three decimal places
using iteration method.
DBEG DEB BODBREOD X — x — 1 = 0 DHoBETDB 28 DD BT

B0 E5F20E FpHHNO HEED DHOOD BE%,08.

Solve the equations 3x + y —z =3, 2x — 8y + z=-5, x — 2y + 9z = 8§ using
Gaussian elimination method.
3x+y—z=3,2x—-8y +tz=-5x -2y + 9z = 8§ 3085500550 (700-E°0A0)
DLBSS FPOOTHEBD.
SECTION - B
Answer all questions. 4 x 112 =46)
Each question _carries 117 marks.

a) 1) Using Newton’s forward formula, evaluate f{1.6) from the following
data.
808 S5TOITHD HBOOG BT S YETHD DIPSBHVB) Dotk §P0eaT

f(1.6) & S50 DoHobs.

X 1 1.4 1.8 2.2 2.6
fix) 3.492 4823 5964 6501 7.815

i1)  State and prove Lagrange’s interpolation formula.
BFP0E WOBT S KT DHDOD DETROTIAD.

OR
b) 1) Evaluate:
A A,
1) ( = jx 2) - (x )
x2
3) A{ } 4)  Atan”' x Se8osob.
cos2x

i1)  From the following find y value at x =2.5.
808 DVHO o X =2.5 5K Y DOVHEO BEOGPRDE.

x 0 1 2 3 4 5 6
y 0 1 16 81 256 625 1296



Q10)2)

b)

Ql11)a)

b)

Use Gauss forward formula to find y, for x = 3.75 from the following
data.
DIDSD QYD SBOTHNDHE FOD DEEHD DIBB0BODAZIBOD

x =375 &y, B08%,0&.

X 2.5 3.0 3.5 4.0 4.5 5.0
¥ 24.145 22.043 20.225 18.644 17.262 16.07
State and prove Gauss’s Backward formula.

FOR BEFE0D ®OBT TS VIR DHDOD DEPBHOTHHL.

OR
State and prove Stirling’s formula.

‘T}BQOQ ngag DDDOD BIHOTIDDD.

Given that y,o = 2854, y,4 = 3162, y5 = 3544, y3, = 3992 find y,s by
Bessel’s formula.

20 = 2854, yoy = 3162, yog = 3544 w0005 y3; = 3992 @ond BDG

RTROBOD 6BDO3TRA0D 1250 BaOERR0HD.

State and prove Trapezoidal rule.

gw&aawcée’ﬁ_ ?’omgoéoéo DIDOD BI0508.

% X
Evaluate I(

: jdx using Simpson’s rule taking / = i
v \sinx 16

b
RO  ADPOBOD  HAARBOD  h = L 008 J. ‘x dx ®
® 16 5\ sinx

He30TDDD.

OR

0.

~

Evaluate using Boole’s rule | e dx.

S ey

0.4
2006 REBOBOBO SHABRBOD j " dx © SBoSHBD.
0

52
Evaluate the integral J log x dx , using Weddle’s rule.
4



012)a)

b)

52
BgoR S ¢HIRBoD [ logxdx H30E 8 HFROTOB.
4

Use Regula falsi method to find a root of the equation ¢" sinx = 1.

e siny = 1 0&uBCpoBE 3rer @ag DB R 0P FIPLBND
Ba0H%:50800.

Evaluate x + y+z=7,x+ 2y +3z=16, x + 3y + 4z = 22 by using
Matrix inversion method.

xty+z=T,x+2y+32=16,x + 3y + 4z =22 DO0BSe50050 5B
DD DEB 3350° PQOTHAD.

OR

Solve the equations x + y +z=3,x +2y +3z=4,x +4y + 9z =6 by
Cramer’s rule.

goa0g EROBOD D3RG x +y +z =3, x + 2y + 3z = 4,
X +4y+9z =6 & DpOoTHHW.

Use Gauss — Seidel method to solve the system.
88 B0 DOBETEFOD (PR-VES DB T35 00 PO THD.

8)(71 —3)(72 + 2)(73 :20, 4)(71 + 11)(72—)(73 = 33, 6)(71 + 3)(72 + 12)(73 = 36.

+4 4+



(DAECO31)

Total No. of Questions : 18] [Total No. of Pages : 03
B.A. DEGREE EXAMINATION, DECEMBER - 2018
Third Year

ECONOMICS —11I (E) : Economic Statistics
Time : 3 Hours Maximum Marks :70

SECTION - A
Answer any two of the following questions. (2 X 15 =30)

Q1) Find out Arithmetic mean for the following data
x: | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
f: 12 25 9 6 13 8 10 14

EDE BBIOBNVDED BOB0EIEHDN B&DGPR080.

x: | 0-10 | 10-20 [ 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
VE 12 25 9 6 13 8 10 14

02) Find out mean deviation using median
Income Rs.| 300 | 325 350 | 375 400 | 425 | 450
I 15 11 4 26 10 7 8

B0E,BBO o500 @I DTIODD (5630 WODOE.

eweoDo (83.)(300 | 325 350 | 375 400 | 425 | 450
& 15 11 4 26 10 7 8

03) Distinguish between correlation and regression.
00 DOLIOEHD BOOOKD DB (FBDBVOO FFOOTHHL.

04) Types of Index Numbers.
D) DO SS0en.

SECTION - B
Answer any Three of the following. 3 x8=24)

05) Find out X on Y. Regression equation from the following :
X: 1] 213 4[5 6 1718109
Y: 9|1 8110 |12 |11 ] 13|14 |16 |15
O3 BT 008 X Y5 Y DS 55505 DQ0ESe00 E:505%,08.

X: 1 21 3141516171819
Y : 9| 8110|1211 |13 |14 |16 |15




06) Calculate harmonic mean and mode from the following data.
x: | 0-5 | 5-10 | 10-15 | 15-20 | 20-25
f: 7 18 25 30 20

Al S I ALy Tk 1Ve) 008 0w, S D00 BOOOHD  0TVBBHL (389

SAHOBD.

x: | 05 ] 5-10 | 10-15 | 15-20 | 20-25
f: 7 18 25 30 20

Q7) Calculate Rank correlation coefficient from the following data :
DD G5BT 5008 593 DETDO0E NEBH (5695 TOTOZHD.

Marks in statistics : 40| 46| 54| 46| 60| 70| 75 | 60
DPOYE TIPO® HIpt,e0
Marks in Physics : 451 45| 50| 43| 50| 75| 60 | 75
EOBE TIHOS® K7t

08) Find out quartile deviation and its co-efficient from the following data.
DD 5882085000 S0 TSEOTR0FRY HTIODO 8OOV (EFBO 5885 SOHOSD.

Wages (Rs.) 55-58 | 58-61 | 61-64 | 64-67 | 67-70
BB :

No. of workers 12 17 23 18 10

DO 02O éo&pﬁ

09) Discuss the various sources of collection of Primary and Secondary Data.
PEHROE OO0 YBODH SWIOFHNED VBEOOTIEIED (50 FoTeRIeTeed (5308

ﬂSgoT:Soo“n).

Q10)Bar Diagrams, Pie-diagram.
2305 DBDHL0, H)eeseS Bre HOOTSE DFBO.

SECTION - C
Answer any four questions. 4 x4=16)

Q11)Histogram diagram.
DB DeEBH00.

Q12)Features and importance of dispersion.
DVVEd DFZEFoRD S0DOT0 SV EB.



Q13) Importance of statistics.
VOB TOHDD O300E, Js0E.

Q14) Calculation methods of Time Series.
SOFBD (530 DHeSEe0.

Q15)Merits of Range.
953) A30E, HO3TPELD.

Q16) Features of good average.
D0 V5D OZEFoD.

Q17)Cost of living Index Numbers.
BDHD5 BHOH DI DOYPLeN.

Q18) Explain about C.S.O. and National Sample Survey.
B0g 585208 HOR F0OOKD apBODH BoTee 1T (7°g BODHOG?

S+ 4+



(DAECO32)

Total No. of Questions : 11] [Total No. of Pages : 02
B.A. DEGREE EXAMINATION, DECEMBER - 2018
Third Year

ECONOMICS - 11I (E)
Public Economics
Time : 3 Hours Maximum MarKks :70

SECTION - A
Answer any two of the following questions. (2 X 8 =16)
88 80O DS HBT° 0L DFOED DBTEPDE0D F2ATOW.

Q1) Explain the principle of maximum social advantages.
508 Dood0S OIS ?’omgomg DBOOTHAMD.

02) What are the merits and demerits of Indirect taxes?
0H6%g DO DrDEFERD FOOALD PO BOQHD.

03) Write about the redemption methods of Public debt.
0O, 2200€d IATeIoe écgééoe)éo HOO0D 83°03008000.

04) Examine the tax structure of the government of India.
gROE HFHEB;0 A0S, HTY TR, HEIPBHW (OO DHEGoHD.

SECTION - B

Answer any three of the following questions. (3 X 14 =42)
88 OB ToDSP DB IR DFOED DBTERDH0 FPATIHD.

05) What are the characteristics of a good tax system?
B0 DR D5ee0S 50 OFETO HBOOTIED.

06) Write about the effects of taxes on production and distribution.
SES H0OOTD HOLEBD DI DR OO TV,

07) Explain the causes for the growth of Public expenditure in India.
PBBBIT0 HEDHB HOHO DEHISOLD (50 SBEFORD HOBDOTIHW.

08) Explain the centre and state financial relations in India.
RBBBIT0 B0 Tog) DD 0G5 50 HE DO OGO HBOOTIAD.



09) Briefly explain the pricing policies of Public enterprises in India.
PBBTE HDEDHT, DO 55O DT FHOOD HINOT DBOOTHW.

010) State the effects of Public debt on Production and distribution.
HBEG LHOOT0 HOBEBD LA, 2VED HEIEPOKD DEBOHW.

SECTION - C

Answer any three of the following questions. (3 X4 =12)
88 80O TPDS® DB 0T DFOED DHTEPRBEV FOKVHBD.

Ql1)a) Public Finance Vs Private Finance.
D0 HEH0 Vs D30 HBHW.
b) Progressive tax.
) OLIQLING) o“)é&).
c)  Sources of Public Revenue.
0D, BTPOD NFTIEV.

d) Problems of Public enterprises.
2eHB, Sos éo“c(\p)e) OORV0.

e) Internal debt and external debt.
Q5BB 20080 SOOTD HWB 2EFO.

f)  Budget — components of Budget.
aagef - 0L 8IerIoRD.

S+ 4



(DAECO33)

Total No. of Questions : 16] [Total No. of Pages : 02
B.A. DEGREE EXAMINATION, DECEMBER - 2018
Third Year

ECONOMICS -1V
Rural Development
Time : 3 Hours Maximum Marks :70

SECTION - A
Answer any two of the following questions. (2 X 8 =16)
DD O DIOED DEIREIHBDL TPOTDHD.

Q1) Explain the problems of Health, Nutrition and Medical care in Rural areas.
080 FPomwS® 66950, VTR0, WOODD Bty DOTZERS® o DBV

BOOYDD.

02) Define the concept of Rural development and explain the scope of rural
development.
Qaéomepée)%) 3IPDBED DBDOD E0OOTN T DO HBOOTIED.

03) Write about the agro based industries problems and prospectus.
DHBTOD BB DOFHOO DBVOD) BIOODD SIS (DPHYD) G

anmém.

04) Explain the pattern of Land holdings and the causes for inequalities in land
distribution.
EIREHBO  HBD  S0O0T R  DODRT  NSTRHOBOE)  SeBEFOORD

BOOYDD.

SECTION - B

Answer any three of the following questions. (3 X 14 =42)
DB 07988 DFOED DBIGIPDHH0D FPATDESD.

05) What are the Demography problems of rural areas and explain the approaches to
population control?
380 OO BTGP DIVVELVD) DE%HO OO @D DOHOBEHED

@éoée)@g PPURPON DDOOTOD.

06) What is meant by rural indebtedness? Explain its nature and problems.
38088 222085 3IPBO BBTPIRV ? TR KT FOAK) DFVVGOIBO HBOOLYHD.



Q7) Write about the various Rural Development Programmes.
DR 5500 FedETRE) Q) DEHS (NOOD FTPOADE.

08) Explain the problems of Rural labour in different sectors of India and suggest
suitable measures to solve their problems.
3PSBITO DG Soreee® pdoe TR DBV B 50DATD B8 DBV

Qe ea50 mgﬁ r:SqSe)éo 0IPDOTDDN.

09) What is the meaning of Democratic decentralization? Explain the importance of
it in Rural Development of India.
DB HB0NESEd ODBTPBR0? IBBRE Jo&eseedNQS’ oD Do E0

IBOOYDD.

Q10)Explain the role of Rural Education and Adult literacy in Promoting rural
development.
08059 QP Gedes D BOOOTD HAIPRD WFOAVH ARV, FSBIO (5708

DOOYDD.

SECTION - C

Answer any three of the following questions. (3 X4 =12)
DD 0788 DFOLD DBIGIEDHHDD FPOATDESD.

Q11) Surplus labour in rural areas.
328080 FpomEOS? QOrHAD FQOEDD.

Q12)IRDP.
.e85.8.2.

Q13) Gandhian Philosophy.

ROODS 3e3:0D.

Q14)Minimum wage legislation.
8D B85 <S5830.

Q15)Rural credit.

00808 DBDS.

016) Small scale Industries problems.
DPH BEDE DOFHOO DBOR0.

+4 4+



(DBSTT31)

Total No. of Questions : 9] [Total No. of Pages : 02
B.A. DEGREE EXAMINATION, DECEMBER - 2018
Third Year
STATISTICS - 111
Applied Statistics
Time : 3 Hours Maximum Marks :70
SECTION - A

Answer any four of the following questions. 4 x12%=150)

Q1) a) Define systematic sampling. Discuss it’s advantages and disadvantages.

b) Var (?st) i1s minimum for fixed total size of the sample ‘n’ if n; o< N;S,.

02) a) Describe ANOVA Two-way classification.

b)  What is analysis of variance? Where is it used?

03) a) Describe the analysis of Latin Square Design.

b)  Explain the analysis of Completely Randomized Design.

04) a) What is meant by a quality of a product?

b)  Explain the construction of X - chart.

05) a) Describe measurement of population growth.

b) Explain various measures of fertility.

06) a) Explain the Reproductive rates.

b) Explain Function and organization of N.S.S.O.



07)

0%)

9)

a)

b)

b)

g)

h)

)

Discuss the method of curve fitting by principle of Least squares.

Explain Link relative method.

Explain various problems involved in the construction of an index number.
Explain splicing of index number.

SECTION - B
Answer the following questions. (10 x2=20)

What is sampling distribution?

Define sample frame.

Define ANOVA.

What do you understand by Deflating of index number?
What are the applications of RBD?

Define infant mortality rate.

Explain cyclic variations.

Define C.S.O.

np — chart.

Write any two uses of vital statistics.

+4 4+



(DBSTT32)

Total No. of Questions : 9] [Total No. of Pages : 03

B.A. DEGREE EXAMINATION, DECEMBER - 2018
Third Year

STATISTICS -1V
Operations Research, Computer Programming and Numerical Analysis
Time : 3 Hours Maximum Marks :70

SECTION - A
Answer any four questions. 4 x12%=150)

Q1) a) Define O.R. and discuss its scope.

b) Find the optimal solution to the following transportation problem.

D, D, D, D, Avb
O, 1 2 1 4 30
0O, 3 3 2 1 50
0O; 4 2 5 9 20
Req. 20 40 30 10 100

02) a) Solve the following L.P.P. Graphically
Max Z = 4x; + 2x,
S.T.C. xXp+2x, =22
3x+x,=23
4x;+3x, =26
and x;, x, = 0.

b)  Write an algorithm of Simplex method.



03) a)

b)

04) a)

b)

Q5) a)

b)

06) a)

b)

Q7) a)
b)

Write the formula of value of game and optimal strategies for a 2 x 2 game

with usual notation.
Solve the following 2 x 4 game

Player B

Bl B2 B3 B4

A 2 1 0 -2

Player A | A, 1 0 3 2

Distinguish between CPM and PERT.

Write the rules of Network Construction.

Find the missing values in the following table :
X: 45 50 55 60 65

y: 3.0 - 2.0 - 24

State and prove the fundamental theorem of Finite differences.

1.4

Find I (sin x+log, x+e" )dx using Trapezoidal rule.

0.2

Derive Weddles rule.

Write about Regular Falsi method of False position.

Solve the following system of equation by Gauss Seidal method.

X1 +X2 +X3 =8
2)61 +3XQ—)C3 =19

xl—x2+5x3=2



08)

9)

a)
b)

g)
h)

)

Explain Data Handling in Excel.

Explain the steps to find mean, variance to set of n observations using

Excel.

SECTION -B

Answer the following questions. (10 x2=20)

Write any two definitions of Operation Research.
Explain Simplex optimality condition.

Define basic solution.

Explain two-person zero sum game.

What are the assumptions of sequencing problem?
Define Assignment problem.

Define CPM.

Newton Raphson algorithm.

Explain interpolation.

Define backward difference operator.
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